\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\

- -— - —-— e — e e— -

Q
R

NA—J-0 BVEHS
UPEARAEBERER)

r‘-‘-‘-‘-‘-‘]

----------------- —BH 7 FE (20258 1 BD-——mememmm

) B

HRRAB T /- ZED 1,113 A T ®IERAL 75% & &GV
BIMRAE X . 2,689 AT BIE RAL 3.6% 1 &iaof-,

BRERA# = EE£5 (C dFiER AL THBE, B 298% & | B
23.8% i . H—EX¥ 26% & . E# - &EFE  457% H .
ENFE-INFEE. BRBIE 12.8% 1 JEAE 55.6% & EiEoTLWVA,

MACKEEE % I 595 ATHIEREAL 15% B &Y . BIRBERIT .
2,866 A T HIFERIAL 13% & Ligot=,

LA B 122 #T . RIERAL 11.9% # &EHof,
B DEXRANNER = aIER A L THSHEERR 4 AN ( 33.3% i ) .
REE 12 A C 429% ® ) . E# - BEX 7 A ( 400% #8 )s
H5E - /MEE . MBIE 23 A ( 109.1% & ) . HY—EXEX 17 A
( 545% 1 ) =R =ES 14 A 40.0% ) EhoTLhva,
1,200 200
A ’a /7 | 180
1,000 ‘x\”‘:' ‘\:\‘ g /",—\\\ '/' - 160
800 AT LT _:;’ —-\ B \," A
w0 | 2 =< o -7 T | e — mkmEn
| N L | g —
400 60 — -BREEAR
200 - 40 ------- RS
- 20
0 0
1TH 2A 3A 48 5H 6RA 7A 8H 9RA 10RA 11A 12 1A ()

1A 2R 3R 4R 5H 6H ;) 8H 98 {108 : 11A  12A ¢ 1R

R A% 1,035 1 937 880 885 876 746 | 921 849 1 885 11,086 : 913 720 | 1,113

HRREES| 604 606 596 771 655 547 | 578 498 ! 619 621 533 427 595

¥ v %] 568 730 721 646 619 575 | 504 475 | 548 601 476 438 498

OB %% 109 137 180 152 144 138 1 108 102 i 136 152 120 110 122

RIGEEAR| 699 675 654 641 687 678 | 745 756 | 721 759 716 698 687




ERRIRESR

K #E B>
18 = B 5 ATRIER (iERAERE| g B [s1EEA
3 b3} bl A 10 - 4 3 6 7
B 1k 5 - 2 A3 3 8
W A E ¥ P ¥ 3,919 - 6 42| 3913 3877
& 1% i) = 577 281 A 41 A 70 618 647
g & ®m &% 944 457 375 A 139 569 1,083
w R K F O 55,726 30,682 A 369 158[ 56,095 55,568
18 B i 2] ATREE (emAsE| 57 B |MERB
B OB OE X O 575 - 228 78 347 497
S| OB OB R IR B # % 151 79 24 A 29 127 180
Bl 2 #HE B RTE B K 154 76 18 A7 136 161
H K F G EAE 687 307 A 11 A 12 698 699
x| ( B 4REE ) * % 108,513 52,080 15,002| A 4614| 93511113127
Héf BT s =AE 29 15 A3 7 32 22
| F = & % 211 82 A 25 85 236 126
1 ESYN=| 0 0 0 A2 2
S Hm F 4 —
2 % 0 0| of A 399 399
PEEER N | 1 | 1 1 0 0
# X E F 4 2 %3 230 230| 230 230 0
L] A B 42 23 A 22 A3 64 45
| B B OB F 4 . "
& 8 19,091 12542 A 10037| A 1,062 29,128 20,153
F R BB EF X 0 of 0 0 0 0
E w kx B = ® 0 o 0 of o o
53 % 2 &8 0 0| 0 0 0 0
X EE(X1,000MFXRBEERA (B FH)
1,600 800
e
1,400 | — S
1,200 N N 600 m=m=-f 18
1000 N\ / N\ AN N
’ - —% %
800 \ / \ \g___\ ’A,"\ “\\ / 400
600 -t~ ‘\____'.’ \ \\/ . — R EENE
400 | e T e 200 ------ ERREHS
200 -
0 Lo
m#-wx)1H 28 38 4A 58 6A 7H 8FA 9A 10A 11A 12A 15 (E##E%AA
EMRTE )
1H 28 38 48 58 68 78 88 98 (108 118128 18
HY 5 647! 695! 661i1,285i1,373] 8031 759! 581} 563i 899} 818! 618 577
I % 1,0831 7581 717!1,259! 8341 666: 7131 6831 723! 877! 554! 569 944
ZIREEAE 699! 675! 6541 641 687 678! 745! 7561 721i 759i 716} 698! 687
BRRTEHE 1611 1841 147! 256! 217! 148! 205! 156f 175! 197% 141} 136} 154




—REEEBN N—FEED)

17 B &t 5 BIAE |wemRAkR]| 37 B |§TERA

ARMAEMKEER 2,866 1,486 22 A 39 2,844 2,905

= A 2,858 1,481 23 A 42 2,835 2,900

x 967 463 A 11| A 23 978 990

b E g 1,721 973 38 A 63 1,683 1,784

R KB A 2 595 298 168 A9 427 604

‘ = A 593 297 172 A 10 421 603

. 140 70 41 A2 99 142

hF g 394 212 118 A 15 276 409

B N % 498 266 60 A 70 438 568

" 139 70 23 A6 116 145

h & £ 342 187 71 A 41 271 383

4 EEF & 42 - A1 16 43 26

MmO 122 58 12 13 110 109

#h #® H 113 55 12 18 101 95

40 17 9 4 31 36

B hF F 84 44 7 8 77 76

EE & 9 - 0 3 9 6

ABAERAH 2,689 - 73 93 2,616 2,596

x ® A 2,552 - 67 78 2,485 2,474

R 1,113 - 393 78 720 1,035

A ® A 1,061 - 421 65 640 996

7 T OB O 91 - 18 9 73 82

2 ® A 87 - 18 16 69 71
otk B (N—+EED)

e = £ 1 A| @1 A = BIFERAZ || 81 A |AIERA
BEHRKAEBE 094 {5 0.02 0.04 0.92 0.89
HHARAEE 187 f& 0.18 0.16 1.69 1.71
b1 I < 8.18 % A 196 0.25 10.14 7.92
M OB =X 2050 % A 526 2.46 25.76 18.05
FEFEDOREZE 21.32 9% A 658 2.74 27.90 18.58




N—r51 LB

5 = B 5 BB (memAme| 51 B |BTERA
B R SR B & 2% 1,221 541 29 A 47 1,192 1,268
K
h 5 & 873 420 35 A 55 838 928
SRR B 3 21 261 108 78 18 183 243
54
h 5 & 214 95 64 10 150 204
2 N = 224 110 47 A 26 177 250
A
@ 45 19 1 A4 44 49
e -
h &5 & 196 98 48 A 17 148 213
" o OB 68 34 8 10 60 58
@ 18 10 3 3 15 15
B -
h 5 & 56 30 4 7 52 49
K AREIAEZK AL 1,237 - 34 50 1,203 1,187
A K A B 513 - 173 48 340 465
g T B 56 - 12 10 44 46
= b EUS—RMALBEER)

Ig B 7 F 1 Al &1 B = BIERBE Bl B |81ERA
AR ANEE 1.01 f= 0.00 0.08 1.01 0.94
IR AfE=R 1.97 f= 0.11 0.05 1.86 1.91
w B = 26.05 % A 6.73 219 32.79 23.87
P EEDEE 2617 % A 850 215 34.67 24.02
i 2 = 10.92 9% A 202 1.02 12.94 9.89

BMENNET BLERUI—FEED)

15 B 7 & 1 Al 8 A = ERAZE Bl A |RIERA
BRKANEE 097 = A 002 0.01 0.98 0.96
K ANEE 1.74 = A 028 0.03 2.02 1.71
=)y B = 13.01 % A 625 A 011 19.26 13.11
P EEDEE 13.93 % A 659 A 0.19 20.52 14.12
x i = 6.44 % A 187 A 011 8.31 6.55

X RABERIEHRFRLGL

FERARKRZEEZLD




